
Nome:
:

Recolf ing Algebro I
you must show oll work to receive credit.

No work = no credit-

1. SimPlifY this exPression: :
5x2  -2x -3x2  -4x

2. Solve this eguotion:
L=7 '
8

3. Evotuote this exPression if o = 5 ond b = -1

4(b' + a)
:

4. Find the length of segm ent AB, given thot A (8 ;-?)
ond B (?, 6)

. l

5. write the eguotion of the l ine with o slope of 3
possing through the Point (0, 4)

6. Whot is the Product of 9 ond -5

7. Simplify this exPression: (4ut2vn)(3u3v)

'Teocher:

Subject:
Period: Dote:

I I



8. Find the slope of the l ine pictured below:

g. Whot is the volue of x in this eguotion:

,3{ t -2) -4(2+3x)=x+10

TO.Circle theshope(s) thot is'not o porollelogrom:

11. Simplify this exPression:
6y' 7 xy

L v -

l4xy' 
. 

4x2



t2.The eguotion
f ol lowing:

Point
- Porobolo
- Line
- Circle

3y +7 x =4 best describes which of the

I

Exploin Your reosoning

13. SimPlifY this exPression:
._16*.tr

14. Find the midpoint of this segment:
The endPoints ore of (-3, 6) ond (2'5)

15. SimPlifY this exPression:
(a-sxX3+25x)

16. Solve this eguotion for x:
5+(32 -4)+6x3=x



17. Solv e f or x bY foctoring:
x '  +3x =  4

I

.

1g. On this groph, drow ond lobel point A ot (-3, 2):

19. Solve for x: l+ - I = xl

?o.Betweenwhot two numbers is:x in this right
triongf e:

Il.Findthe sum of 37.428 ond 5?.879. Round your
onswer to the neorest hundredth'

I

?Z.writetheeguotion of the line Pe?Pendiculor to the

| iney=_3,x*5ondPoss ingthroughthepo in t (0 ,4)



:

23.One leg of o right triangle is 8 cm ond the
hypotenuse is 77 cm. How lgng is the other leg?'

Z4.Write the eguotion of line AC, possing through A (2,
3) ond C (4, 5)

25.On this groph the l ine
v

26.Findot leost one solution of x' - 4x =12

?7.Write the eguotion of the f ine shown here:

,2 , ,v ,= - x -  z'3

v

grid,



28.5olve this eguotion: '

.'.6+ Jfi =,

2g.Solvefor d where 3d -35 =9d-59

30.5olve this system of eguotions:
2x+ !  =15
x+2Y = 15


